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3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQMHODVNDQ�SHQJDGDDQ�EDUDQJ�MDVD�GDQ VLVWHP
SHQJHQGDOLDQ�LQWHUQDO�SDGD�3HUXVDKDDQ�'DHUDK�$LU�0LQXP��3'$0��.RWD�6RORN
VHUWD� NHQGDOD�NHQGDOD� \DQJ� WHUMDGL� GDODP� SURVHV� SHQJHORODDQQ\D�� 3HQHOLWLDQ
GLODNXNDQ�GL�3HUXVDKDDQ�'DHUDK�$LU�0LQXP��3'$0��.RWD�6RORN�

3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� GHVNULSWLI� GHQJDQ PHQMHODVNDQ� GDQ
PHQMDEDUNDQ PHQJHQDL SHQJDGDDQ�EDUDQJ� MDVD�GDQ�VLVWHP�SHQJHQGDOLDQ� LQWHUQDO
\DQJ�GLODNXNDQ�ROHK�3HUXVDKDDQ�'DHUDK�$LU�0LQXP��3'$0��.RWD�6RORN��'DODP
SHQHOLWLDQ�LQL�SHQXOLV�MXJD�PHPDSDUNDQ�GDWD�PHQJHQDL�SHQJDGDDQ�EDUDQJ�MDVD�GDQ
VLVWHP�SHQJHQGDOLDQ�LQWHUQDO�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ�� SURVHGXU� SHQJDGDDQ� EDUDQJ� MDVD� GDQ� VLVWHP
SHQJHQGDOLDQ�LQWHUQDO�3HUXVDKDDQ�'DHUDK�$LU�0LQXP��3'$0��.RWD�6RORN�EHOXP
EHUMDODQ� GHQJDQ� EDLN�� +DO� LQL� GLVHEDENDQ� ROHK� DGDQ\D� EHEHUDSD� NHQGDOD� GDQ
EHEHUDSD� IDFWRU�GDODP�SHQJHORODDQ� \DQJ�GLODNXNDQ�ROHK�3HUXVDKDDQ�'DHUDK�$LU
0LQXP��3'$0��.RWD�6RORN�
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